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BRXEE | BER | 2YEI [A|B|ClH| Tt @@ BxXge=s | @R xY@d |A|B | H| t |@&EmE|1E
40(1%) | G1%%(47.8) [100| 88|6.0] 47 |3.0]4.0/12,000] 5 40(1%) | G1k(478) | 98] 90| 45 | 30| 9,700 5
50(2) |G2(59.6) |130|118]6.0| 52 [3.5|4.0/15,300| 5 50(2) 62(59.6) 122 | 114 | 52 | 40 | 13,400| 5
IE3= ] Yo 5 ]
CoEER 65 (212) | G212(75.2) [155]143]6.0] 56 | 3.5] 4.0 | 24,400] 2 CERR 65(2%) | G2w(75.2) |148]138| 60 | 4.0 | 23,300] 4
75(3) |63(87.9) |180]168]6.0| 64 | 4.0]6.0]38,200] 2 75(3) 63(87.9) 180 | 164 | 63 | 5.0 | 34,200| 4
BRES | HER 2YBd | A|B|H| t |@&EE BRLS | FER VR [A[B[H] t [EE@E]E
40(1%2) | G1%(47.8) 62| 49| 25 [ 30| 3,600 20 32(1%4) | G1%4(41.9) 50| 41|18 [30| 2,700 20
50(2) 62(59.6) 74| 61] 25 | 30| 4,200 20 40(1%) | G1x(47.8) 55| 48] 20 | 3.0 | 3,200 20
65(2'%) | G2 (75.2) 90| 76| 29 [ 35| 5,200] 10 50(2) 62(59.6) 66| 59| 20 | 3.0 | 3,400 20
DDEER | 75(3) 63(87.9) 105| 89| 29 [ 35| 7,500 10 65(212) | G2k(75.2) 80| 73|18 [ 30| 4,700 10
100(4) | G4(113.0) 130 113| 29 | 45| 8,900] 10 PEISE 75(3) 63(87.9) 92| 86|19 | 30| 5,800/ 10
125(5) G5(138.4) 156 | 140 | 31 | 5.0 |18,100| 5 == 100(4) | G4(113.0) 117 [110| 20 | 3.0 | 7,500| 10
150(6) | G6(163.8) | 184|166 31 | 6.0 /31,800 2 125(5) | G5(138.4) 145 (137 | 28 | 35 | 14,700 6
150(6) | G6(163.9) 173|162 | 32 | 35| 23,200 6
200(8) | Pra(2146) |234]222] 35 | 5.5 71,500] 4
250(10) | PF10(265.4) | 290|261 | 50 | 6.0 (197,800 2




